
Simple Solutions® Grammar & Writing Level8 

1. Which sentence has the best placement of modifiers?

A) Working long hours in the dangerous coal mine contributed to the decline of his health.

B) The decline of his health was contributed to in the dangerous coal mine, by working long

hours.

C) Working contributed to the decline of his health, in the dangerous coal mine for long

hours.

2. Which spelling is correct? If neither is correct, write the word correctly.

A) balloon B) baloon

3. Rewrite the following sentence so that it would be appropriate in a formal context.

When it comes to technology, Bette doesn't have a clue! 

4. Rewrite the sentence so that the structure is parallel.

By 3:00 p.m., the manuscripts were copied, bound, and she distributed them. 

5. An adverb clause is always introduced by a subordinating conjunction. A noun

clause and adjective clause are sometimes introduced by subordinating conjunctions.

Underline the adverb clause; circle the word it modifies.

While you are shopping, keep your cell phone turned on. 
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